Multiplication d'un Binome par Deux Trinomes (J)

Simplifiez chaque expression.

1 (—w® 4 8w*)(—2w? + 2w — 5)(5w® + 9w? + w)

2. (=9¢° + 2¢") (—¢* — 3¢ — 7q)(—¢° + 4¢* + 2¢°)

5 (=3f = B)(=8f = TfP = 3T+ 4fP —TF?)

L (20 + 30%) (=207 + 20t + 20%) (—3v? 4 Tv + 6)

- (6k + 3)(k* + 3K* + 5k)(—2k* — 5K* + 6k)

Ot

6. (—8n® — 6n?)(—3n" — In* — 8n?)(—5n° 4+ In* + 4n?)

-3

26U+ f =T =T+ 9f)

s (=Ty —)4y" —y —5)(y" —y* — 9°)

e

). (3r + 9)(—77’4 — 8 + r2)(77’3 — o+ 51)

10. (5¢° 4 5t%)(5¢3 — 7t2 4 5t) (4t* — 41 + 9t%)
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